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Eq. (16-2): M, = U50)2)10 j sin (10 —12.37cos@) df = 12 800 Ibf - 1n
: 5 .
sin 90 6
150(2)(10)(12.37) 56 . . |
Eq. (16-3): M, = , ) . j sin~ @ dé = 53 300 Ibf - 1n
| sin 90 ’
LH shoe:
cr=12+12+4=281n
F - 53 300 = 12 800 _ 1446 [bf
28
Fip = 1846 bl
4"]> | X F_. =36 b
T O
Eq. (16-6): T = 0.30(1 5(])[2}{![]}*[@5{&3 - ¢081367) 540 IbE i
sin Q0°
RH shoe; T = H.ED[??.E?[EWIDI“J:[UL]:.fic - cos136%) 7940 Ibf -+ in
M, = 53 anﬂl% = 3553p, M, =12 mﬂ]j’%ﬂﬂ = 85.3p, $in 90
3 2
Tower = 15420+ 7940 = 23 400 Ibf-in  Ans.
On this shoe, both My and Mgeare cow. Also,
cr=1(24=21tan 14°) cos [4°=22.81n
F. = F sinl4® =361 1bf Ans
F,=F, /cosl4® = 1491 Ibf
3553 + B33 .
Thus, 1491 = 378 p, = p. =T77.2ps
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